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Custom Function #1
PRINT #3 “?P0101”
PRINT #3 “Temperature Check”

PRINT #3 “?P0102”
PRINT #3 “Setting Rm = “; ADC(1) * 50/4096; CHR$(223); “C”
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Custom Function #10

SETPSPEED 1, 5000, 100
STEPMOVE 1, 100000, 20

" Motor1 Max 5,000pps, acc100
" Move 100,000step RLY20 ON

Custom Function #11

PRINT #3 “?P0103” " Display line3

PRINT #3 "X = “; STEPCOUNT(1) " Move Steps
Tim30s Tim30s
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Custom Function #20

IF TIME[1] = 19 AND TIME[2] = 0 " Hour at 19

SETBIT OUTPUT[1],0 " Minute at 00

ELSE IF TIME[1] = 7 AND TIME[2] = 0
CLRBIT OUTPUT[1],0
ENDIF

IF DATE[1] = 2000 AND DATE[2] = 1
IF DATE[3] = 1
IF TIME[1] = 12 SETBIT OUTPUT[1],4: ENDIF
ELSE TIME[1] = 18 CLRBIT OUTPUT[1],4: ENDIF
ENDIF
ENDIF

" Jan, Year 2000
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Custom Function #30

" Convert’C X 10
" Convert’C X 10

S = ADC(5) * (300+160)/4096 + 160
T = ADC(1) * (500-100)/4096 — 100

IFS-T>15:SETBIT OUTPUT[1],0 " Outl ON
ELSE CLRBIT OUTPUT([1],0 : ENDIF " Outl OFF
IFS-T<-15: SETBIT OUTPUT[1],1 " Out2 ON
ELSE CLRBIT OUTPUT([1],1 : ENDIF " Out2 OFF

PRINT #3 “?P0101” : PRINT #3 “Set Point: ” ; S/10; " C”
PRINT #3 “?P0102” : PRINT #3 “Actual :”;T/10;” C”
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Custom Function #5

P =500:1=50:D =0
PIDDEF 1, P, I, D, 2048 * 100 ' Use PID Engine #1, Max Limut

"= +/-50% Full Scale

Custom Function #6

S = ADC(5) * (200-50)/4096 + 50 " Convert to °C

T = ADC(1) * (300-0)/4096

X = PIDcompute(1, S — T)/100 + 2048

setDAC 1, X " D/A Output #1
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